[N of simulated tracks vs dxy(PV) ]

N of associated tracks (simToReco) vs dxy(PV) ]

[} I’J
° a
o =
£ g
2 s
< 3
Q j=
= S
[
v
o +votinin 1 i i i o
= 1| i Il 1l I 1l =
© 1 I I i I I <
< T :
i
AR el
I I 1 I I I . . . . .
AN i N R A ¢ I
=25 10 15 0 E=50-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm) TP dxy(PV) (cm)
—=— DQM_V0001_R000000001__Global__mkFitbasel__RECO
[N of sim] —— DQM_V0001_R000000001__Global__mkFitbase2_RECO
1] 1J F
k] o N H
] = HE
§ B 10* T
2 E Do
2 g P
S S 10 seen
= o P
x -
10° sk
I - g
9 : : : g v e
g f | | 5
o Ml i B 4 i i
f | |
i

0.954

0.20.4 0.6 0.8

—1—08—06— 402 0

TP dxy(PV) '(cm)

N of simulated tracks vs dz(PV) ]

0.95

-1 08—06—04 02 0 0.2 04 0.6 0.8 1
TP dxy(PV) (cm)

[ Nof associated tracks (simToReco) vs dz(PV) ]

[
(%] F d
K} 3 . o
e I : =
510 TTTTTTrTrsamessomecssemesces Elo
= o g
Sl ; 2
© 10°F- - Ferees LA e S 10
=10 g
F o
10
10
Qv .
g :
%)
b SEEEEEAE i
10 20 30 0 =30 -20 -10 0 10 20
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
(%] F 'd
@ o
2 =
510° B 10t
o
g E
3 2.
I S 10
[= 3
4
2 i=}
T I .
ox ox %)
1 i

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


